N = 505

505 circles in a circular quadrant
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radius = 0.020669949984  density = 0.863038601354
ratio = 48.379410727156 contacts = 939

N = 508

508 circles in a circular quadrant

o
R O@
OB )G
Q0" 0=V
S R OSR
O D= OO PG ~ON
OB Oe O Q
< <
s ‘»** D y*,(* S
D OO DSOS A
O bl OO N 0C
=R (D
PP~
OO0 G
* De0=C
D OE0s ORS00
Do e Sn e O NSESE6)
D OROSE x*,**:*Y
Dat R RGO
D = R D O ) & ) O ) D = (D3
* R PCRP = R PCRPr %
: OO OEOSOEOEOEOEORGS
: O O O O D D O = D S D r
S S OYOCNTS0G
S DS e O DR O OO O OSSO0
@ e Ve Dale
O R R R R AR AL
x D D DO O D = N
k- X, K >k &9 > X,
O SRR PRI ) (40
e KPR RGO IR D
O20Y0 DroYnYovYeYadn At
e Weite? ***,*i’ O~ Oy
SR ICr OO RO O20 0O S
KGRI 2 0R020"0 Oz 0506
PR ORORO=OROmOmOm( DO 0ICS
radius = 0.020596613479  density = 0.862016029220
ratio = 48.551670933622 contacts = 1228

N = 511

511 circles in a circular quadrant
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radius = 0.020524434942  density = 0.861039966269
ratio = 48.722413203303 contacts = 1308

N = 514

514 circles in a circul ar quadrant
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DO CE0R0RCLO=0 D
radius = 0020468703772  density = 0.861397866961
ratio = 48.855072168529 contacts = 1315

N = 506

506 circles in a circular quadrant

radius =  0.020645015670  density = 0.862662544175
ratio = 48.437841655054  contacts = 88

N = 509

509 circles in a circular quadrant
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radius =  0.020573062187  density = 0.861738807492
ratio = 48.607251117576 contacts = 1237

N = 512

512 circles in a circular quadrant

radius =  0.020508051115  density = 0.861348168799
ratio = 48.761337407408 contacts = 1099

N = 515

515 circles in a circul ar quadrant

radius = 0020451217886  density = 0.861599764815
ratio = 48.896843482806  contacts = 932
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N = 507

507 circles in a circular quadrant

radius =  0.020622451105  density = 0.862478972872
ratio = 48.490841117958 contacts = 1074

N = 510

510 circles in a circular quadrant

radius = 0. density = 0.
ratio = 48.684907939790  contacts = 1307

N = 513

513 circles in a circular quadrant

radius =  0.020489442275  density = 0.861464986238
ratio = 48.805623235666 contacts = 1088

N = 516

516 circles in a circul ar quadrant

radius =  0.020422050079  density = 0.860812107159
ratio = 48.966680432270 contacts = 1034




